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QUESTION 1

In the IBM SOA Reference Architecture, the service registry should be logically located with 

which other component? 

A. Access Services 

B. Process Services 

C. Infrastructure Services 

D. Enterprise Service Bus (ESB) 

Correct Answer: D 

 

QUESTION 2

Which cross-cutting concerns are present at all areas within a logical SOA? 

A. Integration, security, management, monitoring and governance 

B. Logging, auditing, business processes, information architecture, identity provision and governance 

C. Encapsulation, separation of concerns, high cohesion, loose-coupling, correct granularity and abstraction 

D. Business flexibility, business agility, cost effectiveness, goal related, traceable requirements and continuous
incremental improvement 

Correct Answer: A 

 

QUESTION 3

In applying SOA, which principle can reduce overall cost? 

A. Reuse services across lines of business. 

B. Build services for only the most important business functions. 

C. Build general services that can perform a variety of business tasks. 

D. Reimplement all services on a consistent hardware and software platform. 

Correct Answer: A 

 

QUESTION 4

In a growth industry, what is the most effective technique to secure executive sponsorship from a 
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line of business for a company\\'s adoption of SOA? 

A. Present the IT savings that can be achieved via an SOA-based reuse strategy. 

B. Emphasize the significant market acceptance of SOA as the new standard architectural style. 

C. Focus on the rate of change in the industry and the need for business agility to take advantage of these marketplace
changes. 

D. Send the executive the recent article describing a competitor\\'s SOA success that has just been published in the
latest issue of an industry trade magazine. 

Correct Answer: C 

 

QUESTION 5

A dealer in rare and antique books is interested in streamlining their business process. Bottlenecks occur when dealing
with inventory and shipping functions in the process. How can 

the dealer optimize this process? 

A. Create a new application to deal with the bottlenecks. 

B. Replace legacy systems with more advanced technology. 

C. Automate the manual steps so that the process is easier to monitor. 

D. Provide multiple paths through the process for some of the functions. 

Correct Answer: D 

 

QUESTION 6

A business has been \\'doing\\' SOA for a while and is becoming disillusioned with the results. They 

are not seeing the Return on Investment (ROI) they expected even though they have created 

several hundred services. What is the likely cause of this problem? 

A. Services are replicated based on language and geographic needs. 

B. Developers need better training on how to create reusable services. 

C. Governance processes are not in place to review and approve services. 

D. Scaling the environment is challenging for such large SOA implementations. 

Correct Answer: C 

 

QUESTION 7
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From an IT perspective, what are three goals of moving to SOA? 

A. Increasing the IT budget 

B. Implementing packaged applications 

C. Giving IT the maximum number of options to solve a business challenge or problem 

D. Exhibiting IT systems as evidence that the company is at the forefront of technology 

E. Viewing the operating environment as a set of services provided by the underlying IT infrastructure 

F. Improving Return on Investment (ROI) on IT assets by breaking traditional monolithic systems down into more
manageable pieces 

Correct Answer: CEF 

 

QUESTION 8

What are two recommended approaches to SOA adoption? 

A. SOA adoption involves incremental change. 

B. Select a business pilot and enable a line of business. 

C. SOA adoption involves a complete and immediate change. 

D. The transition to SOA begins with the selection of appropriate technology. 

E. The first steps in the journey to SOA implementation depends on the company\\'s industry. 

Correct Answer: AB 

 

QUESTION 9

In which situation would a manufacturing plant most likely choose to use an SOA approach for 

their Customer Order Analysis and Tracking System? 

A. The company wanted development and operations to be as simple as possible. 

B. The company wanted to break down department silos and encourage everyone to use the same set of tools. 

C. Most of the company\\'s processes were manual or document-centric with little opportunity for automation. 

D. The legacy system had grown in such a way that it was not easy to update and could not handle the emerging
business demands. 

Correct Answer: D 

 

QUESTION 10
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What is an SOA repository? 

A. Storage of service metadata 

B. Storage for versions of service components 

C. The medium for messaging in a standardized way 

D. The means by which services are loosely coupled 

E. A source of information about invoking a service 

Correct Answer: A 

 

QUESTION 11

Which three characteristics of SOA can make a business more agile? 

A. Defining rules for business 

B. Enforcing governance processes 

C. Creating components that can be shared 

D. Maintaining up-to-date application interfaces 

E. Building applications from reusable components 

F. Changing the implementation without affecting the consumers 

Correct Answer: CEF 

 

QUESTION 12

Which statement is true about a business process in the context of Business Process 

Management (BPM)? 

A. It should be monitored. 

B. It only deals with automated tasks. 

C. It interacts with a single application. 

D. It has one primary Key Performance Indicator (KPI). 

Correct Answer: A 

 

QUESTION 13

Which is an architectural characteristic of SOA? 
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A. An emphasis on standards 

B. Utilizing Web services to access all business functionality 

C. An Enterprise Service Bus (ESB) with an emphasis on Web services 

D. An Enterprise Service Bus (ESB) with an emphasis on XML messaging 

Correct Answer: A 

 

QUESTION 14

Which action should they take first? 

A. Create a service registry. 

B. Define an SOA governance model. 

C. Perform an SOA maturity assessment. 

D. Create an SOA Center of Excellence (CoE). 

Correct Answer: C 

 

QUESTION 15

Which artifact is the most helpful to an organization\\'s SOA transformation and implementation 

roadmap? 

A. A reference architecture 

B. A service interface description 

C. A Web services standards glossary 

D. A proposed service registry document 

Correct Answer: A 
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